
SAP ABAP table TTEC_USAGE {[Obsolete] Usage}

TTEC_USAGE

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAX_REG [CHAR (3)]

TAXCATEG [NUMC (2)]

USAGE_IND [NUMC (3)]

TTEC_COUNTRY

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

COMMUNITY [CHAR (5)]

 TTEC_USAGE-COUNTRYISO = TTEC_COUNTRY-COUNTRYISO 
0..N

{0,1} TTEC_TAXCAT

TAXCAT [NUMC (2)]

 TTEC_USAGE-TAXCATEG = TTEC_TAXCAT-TAXCAT 
1..N1

TTEC_TAX_REG

CLIENT [CLNT (3)]

COUNTRYISO [CHAR (2)]

TAX_REG [CHAR (3)]

 TTEC_USAGE-TAX_REG = TTEC_TAX_REG-TAX_REG 

1..N

1


